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HR3—2 BEYICEAT HLBESHIHEIETHEE1/D i i i _ _ REEE | Viesyl
SEMONE | @MES | 07411001 | E T4 | 1557 FRTEts | A FEEA ARSIl
— SERO TIRICHEET ST SHERHA
Bl48 TERZEOBHOFILNDKES TREDHEBERSENDKRES TREDBHOFHILENDKES TREDHBERIENDRES
5 X 4 BE | Nimh o0 IEEE AORES[ 7 4 THEALDKE | ma NORES X 4 Be | LinpohIEs AORES[ 7 4 ERALONS | B= NOKRES
(m) (m) (kN/m) FE Bt (m) (m) (kN/m) (m) (m) (kN/mi) (m) (m) (kN/m)
1 100kN/ M%7 % - -~ = —|3mzE8z3| — ~ — — — | 100kN/mi%E# 2% — — ~ — — | amEZ S — ~ — — —
Zzh st 1.00 | 0.00 ~ 409 51.26 | Fhst 000 ~ 109|205 10.36 zhust 1.00 | 5.00 ~ 5.00 51.26 | #hs | 500 ~ 5.00| 205 10.36
P 100kN/ M%7 % - -~ = —|3mzE8z3| — ~ — — — | 100kN/mi%E# 2% — — ~ — — | amEZ S — ~ — — —
Zzhn st 1.00 | 000 ~ 529 65.92 | FhUs | 000 ~ 529| 1.89 9.57 zhust 1.00 | 5.00 ~ 602 65.92 | Fhst | 500 ~ 6.02| 1.89 9.57
3 100kN/ M%7 % - -~ = —|3mzE8z3| — ~ — — — | 100kN/mi%E# 2% — — ~ — — | amEZ S — ~ — — —
Zhst 1.00 | 000 ~ 469 5842 | #hst | 0oo ~ 169 1.83 9.26 Fh st 1.00 ) 500 ~ 500 5842 | #hst | 500 ~ 500| 1.83 9.26
100kN/ M%7 % ~ 3ImEBAZS ~ 100kN/ % %% ~ 3ImERZD ~
Zhst ~ Zhst ~ Fhst ~ Fhst ~
100kN/Mi%#87% ~ 3ImEBALS ~ 100kN/ %% % ~ 3ImERZD ~
Zhst ~ ZFhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBZD ~ 100kN/ %% % ~ 3ImERZD ~
Zhst ~ Zhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBZD ~ 100kN/ % %% ~ 3ImERZD ~
ZFhst ~ ZFhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBZD ~ 100kN/ % %% ~ 3ImERZD ~
Fhst ~ Fhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImERALD ~ 100kN/ % %% ~ 3ImERZD ~
Zhst ~ Fhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImERALD ~ 100kN/ % %% ~ 3ImERZD ~
Zhst ~ Fhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBAZS ~ 100kN/ % %% ~ 3ImERZD ~
Zhst ~ Zhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBAZS ~ 100kN/ %% % ~ 3ImERZD ~
Zhst ~ Zhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBAZS ~ 100kN/ %% % ~ 3ImERZD ~
Zhst ~ Fhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImEBZS ~ 100kN/ % %% ~ 3ImERZD ~
Zhst ~ ZFhst ~ Fhst ~ Fhst ~
100kN/ M%7 % ~ 3ImERZS ~ 100kN/ %% % ~ 3ImERZD ~
Zh st ~ Zh st ~ Zhst ~ Zhst ~




